
MOUNTING SYSTEM 

 MOUNTING SYSTEM WITH 50MM CLAMP

 MOUNTING SYSTEM WITH 60MM CLAMPS

SWING AWAY

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

DO NOT SCALE 
   DRAWING

PART NO.:

SHEET:

1 OF 1

020-004

SECURITY BOLT M12 X 90

020-010

2 x SECURITY BOLT M12 X 80

020-011

SECURITY BOLT M12 X 45

020-012

SECURITY BOLT M12 X 20

020-012

2 x SECURITY BOLT M12 X 20

020-009

SECURITY BOLT M12 X 70

020-010

2 x SECURITY BOLT M12 X 80

020-010

2 x SECURITY BOLT M12 X 80

HEX BOLT M12x80

020-010

2 x SECURITY BOLT M12 X 80


